Day_50_Notes_Vector_component_form.notebook

‘Dd‘_{ 50- Vtr:hts
echr - dicecked line scjmuﬂ'

. Divection
2. Magritude (leaghh)

+¢\'M'|'\a\
-—
W/ Webor w: W
ik Veehr v: T

March 20, 2013

Mar 20-10:29 AM

Shondard posdion: e dicected fme
Sugant whusc ol oot 15 #he oigin.

Cmpma* foten:

-\7 = <V' )V=>

witia) point P - Q7 s )
Femiod ik 0 (2, Q)
?@ ‘(Q\"P. ) G;‘ P;> = <\I, |V|>

Mar 20-10:37 AM

Magaitude : vl
= J (or-my+ (@B
s !0,)3.;(\_4?

Mar 20-10:44 AM

Bx |t Find the tmponent fivn and wagichide:
a. "'ﬁ)

*( -
N— <-\-q,qs:'}7> = <530

wagrihde: (-53%5 (ja9s - as+H= J1eq

b. vkl pret: (-1,%)
-l'a-m\dl ?ﬁllt' ('l'»

Components <|-"‘, l-4) = {2,-3>
dhde: G2 7 Ju+q = {1z
o

Mar 20-10:53 AM

Mar 20-10:46 AM




	Page 1

